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http://www.sbn.it/opacsbn/opaclib?db=solr_iccu&select_db=solr_iccu&Invia=Cerca&saveparams=false&resultForward=opac%2Ficcu%2Ffull.jsp&searchForm=opac%2Ficcu%2Ffree.jsp&do_cmd=search_show_cmd&nentries=1&rpnlabel=+Tutti+i+campi+%3D+Lapis&rpnquery=%2540attrset%2Bbib-1%2B%2B%2540attr%2B1%253D1016%2B%2540attr%2B4%253D6%2B%2522Lapis%252C%2BSanto%2522&fname=none&from=3
http://copac.ac.uk/search?rn=24&ti=Duets+for+two+Guitars+&sort-order=rank
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http://www.scotmus.com/music/bremner/guitar-collection/000.html
http://robmackillop.net/guitar/cittern/
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